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You wish to estimate jlnx dx using numerical approximation. SCORE: /12 PTS
I
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[a] Use fnlnt to find the value of J.ln X dy,
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[b] Find S; WITHOUT using the INTEGRAL program demonstrated in lecture.

Show the calculation (which should involve the /i function) that gave your answer.
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[e] Find the value of £S;. Round your answer to 4 significant digits (ie. 4 decimal places starting at the first non-zero digit).
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[d] Using the error bound formulae, find the minimum number of subintervals # necessary

so that your approximation is within 107" of the actual integral if you use
[i] trapezoidal rule [ii] Simpson’s rule

)U]"V‘j/’f’x'}"lé [ ou EJ}:Q} | (]n@‘“’ i ),{QX,H

1ol , '@ e 4013,

18D N !

¢b on [),10]

1 { 2 S i MIpIAOL WRATI
{
N4 ]' ) ) . . e ¥ =
10 l-lf £ N N =780 > gjwlﬁ%ﬁﬁ 2 L& @
| ¥ |




Use the table of integrals on the instructor’s website to evaluate the following integrals. SCORE: /8 PTS
State clearly the rule numbers of all rules you used, and state the values for each of the parameters in those rules (ie. a, b, n...).
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You wish to estimate J J(x) dx using numerical approximation. Suppose that /(4) =3 and f(10)=1. SCORE:

Using 12 subintervals, the right hand sum gives 11.6, and the midpoint rule gives 11.9.

[a] Find the left hand sum using 12 subintervals. Show how you got your answer, Ay {2’ Gt 3_1,
,;Q,wf@mx,umméuw 30),—1(4 nL®
[b] Find the trapezoidal rule using 12 subintervals. Show how you got your answer.
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[c] Based on your answers, would you guess that f* is more likely to be concave up or down ? Why ?
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[d] If =2 < f"(x) <1 for x €[4, 10], find the best interval that j S (x) dx lies in based on the midpoint rule value above,
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